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N slope (inclined plane
as shown. At the bottom of l
tion), and the skier proceeds

. nd. The hill has a local ¢i
the top is part of 3 circle of radius R) as shown iy
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and take off on a ji
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energy to find the final speeds of the
two blocks. [No credit will be gi

just writing down recalled formulas.
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at rest on the water (frictionless) with the left end (A) he b, 7 SO

A3 N starts walking from the right side (B) of the boat ks,
4_—Ug relative to the boat, f |
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‘i’(l)b Without stopping (the boat does not come to rest) at A, the person jumps off the boat
toward the dock with a speed —u,(relative to the boat at rest (i.e., in the rest frame of

the boat, the person’s speed is —u, ). e that the final speed of the boat is given by
R m— = N
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